.,zys:q;a; C@,WDWQ'?T- 2015

2015 cope: KO6
v WYAUFAET BHIH
VAT 12. 93 FEaT, 208 soomrerns 104777
_ THIT 994 : 150
¥ : 2 (GF) AW T AT - 1 T T : 150

THAAT :
(1) TRIAYERA 150 Fard T IR SHSANH T9rat It fofevara geams Hargat =1 Teqfaed o
Y A Tehe TG ret @l %A SE. 39 99" § wRl AW Aewed™ 8 TRae auashined
B e a1

TAEM-6HTR

2) 3T ThE-FHih g dhiATa N @azg
= forraT it g, ereh SRR =
(B) TR FAYfdH! HiF TH=N IqWFRR AR It sqofesis geayam 7 fawwer e o
@ (1) W ITYfEhde Toh TARH 4 T SR uiao SR & 1, 2, 3 0for 4 38 wHis (oo aed. an
IR AU Fad T S HHE SRS JAIYET U SRR TG FAT, ST WHR
TTHIAT o AT TS S0 arad, UF-u a1 e i ange i,
(%) TEmT v frvamares! AuEt saT FUsh wreaw fafia F o . = fawaran we Uy aaet e
AT T |
(5) Hd T THF T TR, AE T4 WA SOl aeid. e I Som T ATt ga Sy e faaen
AT T ErEa™d. M 97 Wrefast ST 21 101 QST WO SHoioT aIeei e 46 1 i ot (3o
UIANTHE A, 379 YFR Vaesd T TREed 3 fires Ifeeam S B[ aieded TS
G0 W 3.
(6) SHUCAFA THS TG oo IR Wieal AR T, THE Fees TaL Tigd Toar I eI o Turfes T T,
(7) TRIA TGS ITRUAH TS [EAHT H AT SHGAN TSN AU A Ao dra Feiwe 7ot fees Ao,
T A

arshis

TR INCTOT TURWET qTHUITE <UAE 94 g @ 9% Hiudd wet uyeqiadet
wa/ vy, fHar AET wwAgiad dio TR 9 FIOTETE WU YEe a1 AueEAao
RO FEE AT, a9 Wi S0 T ST A9 il SO EEiay A
T & ¢ warns gromr fue A yfads srrararaan afufam-s2t ars
TASTAR TR Uaied e aQEHR FTaT w0 950 3 2t Sadt FH UF
Fuiw FTEErE A/ & F08 s TR e deren e i i

TR T WU AIST (Afk SHord des TuvareTet i UAYRAeT SFREGadur ST 8 g5t
T ST TR FVIRT SERR SATHATeT e aIagTadt, aa THarean THagsiaEeria Tue
Eﬁmﬂmﬁmmmmmﬁmawmmmﬁa
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1. 1919 =1 ATy IS HIEG Wit FIT Tegel gl ?
(a) R WsaTE WIR §ere=A fasr e S, '
(b) mﬁamwamﬂﬁﬁaﬁqﬂwwmﬁ%ﬁw%ﬂmﬁa
(c) wimned fgre weaea fmior wyeE. |
(@) WRE e TR SRarEn s fean s

it 39V
(1) (), (b) 300 () FH (2) (&), (c) 30T (d) Per
(3)  (b), () 3o (d) wR (4) () i (d) F=

Which of the following were the provisions of the Montegue Chelmsford Act 1919 ?

(a) The salary of the Secretary of State for India should be paid from the treasury of
England.

(b} Indian High Commissioner should work as the representative of the Viceroy of India
in England. ,

() Dual system of government should be started in the provinces.

(d) The salary of the Secretary of State for India should be given from the treasury of

India.
Answer options :
(1) (a), (b) and (c) only (2) (@) (c) and (d) only
(3)  (b): (c) and (d) only (4) (9) and (d) only

2. RS WM 26 STET 1950 A9t T A, iR T < fauEE SR 9 o ?
(a) & i fragvam sen s FRE fedw=w 1929 =0 wER=N afidvAs i e
AT W ! T W M S e g w1 9 fam ToE aw @aad foas WA

T W,

(b) Tawmr s arfufm 1935 78l T s, Tamele, smawls, faea, wiw 7 @F
oA WauA 3.

it 39y

1) %92 (3) (2) *u (b) @) @ @) T

The Constitution of India came into force on 26 January 1950. Which one of the following

two statements about it is correct ?

(a) The reason for choosing this date was that the Congress which had adopted Purna
Swaraj resolution at Lahore in December 1929 had urged upon the Indians to observe
26 January as Independence Day every year.

(b) The sources of the Constitution are based on the Act of 1935 and the Constitutions
of the United States of America, Switzerland, Ireland, Britain, France and Spain.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

HEAT HIWHS AT /SPACE FOR ROUGH WORK
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3.

4 A

it oo IEie A s S @Y T ?
(@) | 1761 91816 TS} TSt W & WgTera e Togd q=94 2.

(b) WA aAfaHa: 26 WAt 1816 s GSAday STqet WO TG Heft A 31 At
1954 W <TeTe.

Wi'ﬂ"faﬁ"l‘:'

(1) ¥ (a) @) 5@ (b) @) (4) T
Which one of the following two statements about Pondichery is not true ?

(a) Between 1761 and 1816 the conitrol over Pondicherry swung between France and
Portugal. )

(b) France finally established her rule over Pondicherry on 26 September 1816 and it
continued upto 31 October 1954.

Answer options :
(1) Only (a) (2) Only (b) (3) Both ~ {4) Neither

Wt 31 fayAis! SR arg @ ?
(a) ¥RE 9 T AU Rt ST 39 STHINTER W ARid Jass T oA o
T 941 T AL

() WAL W W & wH T R fuET S et ot T At w1 o e 9w
qoi qrfdar . |

Tqfdt 39T ; |

(1) %as (a) (2) 9= (b) () =t (4) U TR

Which one of the following two statements is not correct ?

(a} Several Englishmen both in India and England did not like the establishment of
Indian Association. Hence they thought of an alternative to this organisation.

{b} Sir A.O. Hume, a retired civil servant, desired an organisation which would serve as
a safety valve and thus the Congress was founded. Lord Duffrein, the Governor
General gave him his full support.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

AT HTHAET A /SPACE FOR ROUGH WORK
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5. TEE A faumist v a2
(a) TEET YA WIH SER FERE gE 4= AgarE! g, We Wh Fiee 95 B
(b) S FEAE HilgTd gaT d gIHES RIAFHET A FFA {Tegdt e,
Al 3wy
(1) 9@ (a) (2) 9 (b) (3) = 4) T
Which one of the following two statements is not correct ?

(@) The first government of free India was led by ]awaharlal Nehru. All the ministers
were the members of the Congress.

(b) Food shortages were met by shipments of food from the Soviet Unior and the United
States.

Answer options :

(1) Only (a) {2) Only (b) (3) Both (4) Neither

6. e faumitst SR g A ?
(1) oo e o e @ fren gerae siewa fadvm 8.

2y U e YE 3 ifteRraien « qeasfET fuel, e Tam wH 9 ¥, Y9 g
: e freen et a9 gaifats @ie] Lvandd Sy aefast.

(3) @ wEE R Wi .
(4) wwEw T fasr e .
Which one of the following statements is not correct ?

(1) The British attitude towards the INA and its leaders was very hostile.

(2) They put to trial three of its most prominent Officers Gurubakshah Singh Dhillon,
Shah Nawaz Khan and P.K. Sehgal at Delhi Red Fort for fighting against the British.

(3) All of them were convicted.

(4) They were accordingly punished.

FoeA HTUHES AR /SPACE FOR ROUGH WORK
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7. YEiEdEt RN YRGS 9 1917 = YR NG B ?

(a) N AT (b) <N HRsi
(c) oYY T (d) =R erae
\'-l'dﬁﬂ‘a?ﬁ‘ : :
(1) (a) ST (b) e (2) (b) M () wH
B (o) FfT (d) @) (a) 0w (d) TR
Who from amongst the following Indians were the members of the Sadler Commission of
1917 ?
(a) Surendranath Banerjee (b) Dadabhai Nauroji
{c) Ashutosh Mukherjee (d) Ziyauddin Ahmed
Answer options : )
(1) (a) and (b) only () (b) and (¢) only
(3) (c)and (d) only (4) (a) and (d) only
8. e Al .
(a) NG TS @) e et
by weHsT e SamE (i) T EHE WS TH
(€) SrEuEHT qEE® (i) A D |
(d) faren faeer s (v) el oM AR
T S

@ @G (©
1 O @ @) @
(2 (@@ (v @) @
Gy (v) @ @ )
4 () @) vy @

Maich the pairs :

(a} Aligarh Movement (i) Mohammad Ali

{(b) Mohmaiden Literary Society {ii) Sir Sayyed Ahmed Khan
(c} Ahmediya Movement (ili) Abdul Latif

(d) Jamiya Miliya Islamiya (iv) Mirza Gulam Mohammad

Answer options :

@ ® (@ (@
) @ @ Q@) (@[
(2) (@ (v @) @
G @) @ @ )
4) @@ @) @) @

| T WS WA /SPACE FOR ROUGH WORK
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9, TS GRS T AR, M € A B FHEsEi e qrE fSuEs $@ wEn,
d wE Afead 15ga ?

(1) TrEadt AEH

(2) FHAR I F HEYVAIHI FINSH w1
(3) W e SfeaeteE T

(4) TS WS T

After the formation of Swaraj Party, Gandhiji wanted Congressmen to start constructive
work in villages. What did it not include ?

(1) anti liquor campaign.
(2} social work among depressed classes and untouchables.
{3) establishment of hospitals for alt.

(4) establishment of national schools.

10. WH-T-TH R FA
(1) Eeuer=m FEmren Aes e e
2) deaRE fraTmTe SR STamH weEt
(3) %atﬁnm IR §eATIR HEe
(4) AR FSTHTSN TSI HET
What is meant by Sarf-e-Khas ?
(1) Lands belonging to the Nizam of Hyderabad
(2) The title given to the family members of the Nizam of Hyderabad
(3) The Council of advisors of the Nizam of Hyderabad

(4) Part of the Palace of the Nizam of Hyderabad

HEAT SIS SN /SPACE FOR ROUGH WORK
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.11. S oo
WRAE T Sirat Afaaym, e 9 96

T (1886)

(a)
()
(<)

FETBEIS (1888)
FRIET (1905)

(d) HEHT (1917)

it 9

ey
2
3)
(4)

 Match the pairs :

Sessions of the Indian National
Congress, Places and Years

(@)
(b)
(©)
(d)

(a)
)

(i
(i)
(i)

Calcutta (1886)

®)
()
)
)
(i)

Allahabad (1888)
Varanasi (1905)

Calcutta (1917)

Answer options :

&)
@)
G
)

(a)
)

(if)
(iii)
(iv)

(b)
(iv)
(1)
(iv)
(i)

()
(i)
(iv)
@

(i)

(d)

ST
(@) o S
(1) Erereme
(iii) S Ze
(iv) TEFT e

Presidents .

Annie Besant
Dadabhai Nauroji
George Yul
Gopalkrishna Ghokhale

HTAT HIETET ST0 /SPACE FOR ROUGH WORK
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12, YRAHE sTefag QO9 o0 A1 T Fgal U Hga T fagd Aaeaisn snffe gramate gEodet
IV FHT TR Bl 2
(a) JETEE S TEgd
(b) THS
(c) TS RN A
(d) fafau =
i ST ;
(1) (a) ST (d) SR (2) (b) ST (c) B
3) (c) 3 (a) T (4) (d) srfer (b) =R
Indian economist Romesh Dutta had written an open letter to Lord Curzon stating which
of the following reasons for the poor economic condition of the farmers ?
(a) Excessive Land Revenue
(b) Droughis '
(¢) The government overlooked the canals
(d) Various Taxes
Answer options :
(1) (a) and (d) Correct (2} (b) and () Correct
(3) (¢) and (a} Correct : (4) (d) and (b) Correct
13. & €9 faumitst S 9 T ?
(a) EE fHT e sniftn e #ifaeRl i w9 1907 B Hfawiiis 3 ffeaw felew

= T Fedl.  oITen Sedrd divdl F0IHGT 1911 §E 41 e SRATT Jeedl,

(b) OREMIE T T 1913 TR T HhIGTn! 9 TG T ST Fedl. w@iqT SRR fme

9 RN YRAEE 3USifaeg NeHT Sd e,
TRt 3al _
(1) %93 (a) (2) ¥ (b) (3) <= (4) UFE TR

Which one of the following two statements is not correct ?

(@) Sohan Singh Bhakna and his revolutionary friends set up the Indian Independence
League at California in 1907. The activities of the league increased in 1911 with the
arrival of Lala Har Dayal.

(b) In 1913 Tarakanath founded Ghadar Party at San Fransisco. He toured America
extensively and tried to arouse anti British sentiments among the Indian settlers.

Answer options :
(1) Only (a) (2) Only (b) (3} Both (4) Neither

THoAT FHIETHTST AT /SPACE FOR ROUGH WORK
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14. A faurids] IR g o) ?
(1) YRATS STHEER WY Fild R TAIGH Toed.
(2) YrEH e 1 TianEr (23 9 98 F0awE TER foram @ afifert 3gveet.
(3) g I HSUE BE TSl 11 gL 2001 T4,
(4) =dw U

Which one of the following statements is incorrect ?

(1) India’s relations with United States were never very cordial.

(2) The bone of contention is Indias refusal to sign Nuclear Non Proliferation Treaty.
(3) However the relationship changed after 11 September 2001.

(4) None of the above.

15. W@ faamiie! FivE A e ?
(a) TR e faema bewm 2 Ms?wma?vm?mﬁé’raﬂma‘maﬁ
(b) Ty e foeet FEWH 7 AUES TE AP FE 49 ST AR Qe femn
TR I -
(1) %% (a) 2) 3B (b) @) = 4 THE T
Which one of the following two statements is correct ?
(a) The South Indian Liberal Federation was also known as Anti Homerule League.
(b} The South Indian Liberal Federation submitted a report to Montegue that ‘Home
Rule should not be granted to India then. '

Answer options : :
M Only@ (2) Only (b) 3) Both (4) Neither

16. 1857 =1 IoMEM WRTTAH Hol TEHT 2 ?

(a) TETERR U fvER

(b) Hd TR ™

{(c) WA JerETEr Aear

(d) o e

qaie I

(1) (@), (b) 3T () B (2)  (b), () S (d) Pl
(3) - (a) 30T () @ (o) () FR
Who from amongst the following participated in the Revolt of 1857 ?
(a) Ramaji Shirsat of Sawantwadi

(b) Zinnat Mahal Begum

(¢) Khan Bahadurkhan Rohila

(d} Nusrat Shah.
Answer options :

(1) @ ®and(©only (2)  {b), () and (d) only
(3} (a)and (¢) only (4) (c) and (d) only

HoAT HIATHTS AT /SPACE FOR ROUGH WORK
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A
17. + T 1895 = YUARIE WA THT HOH AEETAE 907 Haan.
C e 4R 9 IUE JUET IO S o SR A,
o TR HEIT HIHR SHouden it Siaet WV He T,
w1 e ?
) TEEEr | (2) it s
(3) TG FIAHT (4) HER FTER
¢+  She participated in the Pune Session of the Indian National Congress in 1895.
¢ She became a doctor after having studied medicine in Mumbai and Europe, |
*  She joined dﬁty as a doctor in a state owned hospital in the Kolhapur state.
Who was she ?
(1) Rakhmabai (2) Anandibai Joshi
(3) Krushnabai Kelavkar | (4) Kashibai Kanitkar
18. T fAumiER Fow AT W 2

(1) 7w 24 7 1947 WH TS 399 AT AAS TS et 9 wnaﬁmgﬂ
2) & 35 1947 Isft A TRE™ I TRT T WA 901 IRG F TREH SER .
(3) UG YRAT fauTSA Wi SIS qerel HHE ) .

(4) RGN IS T FE @A RO TR TR | TS S d SR
A, |
Which one of the following is not correct ?

(1) On24h March 1947 Lord Mountbatten replaced Lord Wavell and became the Viceroy
of India.

(2) On3"June 1947 he announced division of India into two independent and sovereign
states - India and Pakistan. '

(3) The Congress never wanted the country’s division on communal lines.

{4) The Congress had to accept the division because the British Government insisted
upon it for their own selfish reasons.

FHoAT HMAET S /SPACE FOR ROUGH WORK
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19.

12 A

Wt StaT fasm $Iom ?

(a) TN FEME Taiq 53 0 7O herd o0l 29,

(b) % Aefier i v Fier defii aMRa.

(c) A=A ST geheed, FETHl o §U 1 fowmot o Fax WGt wivedt feft.
(d) w@aﬁamﬁwwﬁﬁmmm

i .
1) (a) T (b) B @)  (a) I (c)
@3)  (b) 3 () e (4) 0@ ¥ SR

Which of the following statements are correct ?

() The most outstanding cave of the Rastrakut period is the Kailash cave.

(b) The Jain caves at Verul belong to the Digambar sect.

() Many beautiful temples were built at Pattakadal, Badami and Ter during the
Chalukyan period.

(d) Trimukhi idol scﬁlpture in the Gharapuri caves is well known.

Answer options :
(1) {(a) and (b) only (2) () and (c) only
(3) (b} and (c) only {4y All the above are correct

20.

AT ferre Sevia [Eie faumitat o faus & - ?

1) e T Ty e T aed e, |

(2) TS W T G T AR S TG S qer e,

(3) T, T g, Wi 3 TEHR HOR 9 FIE TEEE e F (1966) TRRTE [@HRAD
ELS1S -

(4) Wi IF FSEER T T foet snf wha ar Hey weer ufet T,

:\él;lzi\t c;ne of the fol.llowmg statements about our relatlons with the Sowet Union is not

(i) Our relations with Russia have always remained cordial.

(2) At the global level neither Russia nor India has ever cherished an idea of j joining any
alliance against one another.

(3) Indo Soviet Treaty of Peace, Friendship Cooperation and the Tashkant Agreement
(1966) signed over the Kashmir issue was at the instance of Moscow.

(4)  After the collapse of the Soviet Union the relations between New Delhi and Moscow
are not cordial.

FoAT HHA I /SPACE FOR ROUGH WORK
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21, IRATEAT IO WO, G, 3, T, T, T, .09, AW, TE,T, IS, TH.F. a0 SA1fon U sy
Tzt aTl wrfee aMféeey U T Fer. TerE) Saadt o ekt 7

1) TLIE (2) JEEE FR

3) TH T™ 4) IS TS

After India’s partition, FIN. Souza, SH. Raza, K.H. Ara, H.A. Gade, S.K. Bakre and one
more person came together to form the Bombay Progressive Artists’ Group. Who was the
sixth person ?

(1) M.F. Hussain ~ (2)  Prithviraj Kapoor

(3) A.K. Hangal (4) Annabhau Sathe

22, 1945 AEd feedo ana frecama S fiT HiveR Seeied WeedT™ 96 FEiel v B 2

(a) TSI AR EE (b) Yo 2R

(c) i SRS STHSH (d) dSTeIEIgT Y,

i I

1) @), (b) T (d) F (2 (b), (c) S {d) et

(3) (a) 30 (b) T (@) (a) S (d) T4

Who were the lawyers at the time of Azad Hind Sena’s prosecution at Red Fort in Delhi in
1945 ?

(a) Pandit Jawaharlal Nehru () Bhoolabhai Desai

{c) Dr. Babasaheb Ambedkar (d) Tej Bahadur Sapru

Answer options :

(1) (a) ®) and (d) only (2) (b}, () and (d) only
(3} (a) and (b) only (4) (a) and (d) only

HoAT HIUTES IR /SPACE FOR ROUGH WORK
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23.

14 | | A

Tt i TEa FrEer 1878 =N AIadid GIHladH! vk U Siat 3Ted ?

(a) I Wivw FAED qRF F TFNE AoFHgT TER GROTER IH 7 HIvErEt g

(b) TERS FAaRITes ReAE 3% AN SR qo9 SRl Qv e
e, _

(€) ¥ FEI TR I IH JIHATE AL AL

it I ,

(1) (a) S (c) FH 2 @b %A

(3) (a), (b) 3T (c) W 4 (b) T () TR

Which of the following statements are true about the Vermnacular Press Act of 1878 7

(a) Vernacular Newspaper publishers and printers had to give in writing that they will
not criticize the government policies,

(b) The owners of Printing Press had no nght to go to the court against the action taken
by the government.

(c) This act was applicable only to the Vernacular Newspapers
Answer options :

(1) (a) and (c) only - (2) (a) and (b) only

(3) {a), (b) and (c) only (4) (b} and (c) only

24,

felire T favrT=on Feuia Ereiad! HvE faur e s ?
(a) 1910 9 W& Wfeaww A .

(b) 1912 R sregvan frmer witg srfaet,

(©) O A% SAfecgmTET T,

(d) —EHA W= ¥,

WW: _ o
(1) (@), (b) 3 (c) W (2)  (b) T (c) e
(3) (), (c) MU (d) TR (4) (a) ST (@) R

Which of the following statements are true regarding the depressed classes Mission ?
{(a) Arranged a meeting for prohibition of Murali custom in 1910.

(b} Organized a conference for redressal of Untouchability in 1912.

{c) Establishmeni of Ahilyashram at Pune.

(d) Establishment of Samata Sangh.

Answer options :

(1) (@), (&) and (c) only (@) (o) and (c) only

(3) (), (c) and (d) only (4)  (a) and (d) only

T HTATHIS 0N /SPACE FOR ROUGH WORK
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25, ATq SIS A

(a) '{_I":ITrﬁ?ﬂ- | () TIHR-TIYR TF W T A T
() WM (i) G T el

() WM 9 (iii) ﬁﬁag@mwmm@ﬂﬁm
() B (iv) AT T faae F Sy
gl SN

@ ® © @
® @ @ @
@ O G @) @
G @ @ O G
@ @) @ @

‘Match the pairs : - :

(@) Ram Joshi (i) Latpat Latpat Tujh Chalana Ga Mothya Nakharyacha
(b) Parashram (i) Sundara Manamadhe Bharali -
(¢) Sagan Bhau - (i) Nirmal Mukhada Chandrakar Saral Nakachi Shobhate
' Dhar
(d) Honaji Bala (iv) Lekarala May Visarali Kasa Ishwartari

Answer options :

@@ ® () (@
1) @) @ @) @
@ @O @ @G (i)
@ @ v @ @)
¢ @) () @ @

26. 1858 <A1 TV SEATNG [EIeTad T HIvRAT TRgal ToRe 7
(a) RGN S S TEHER TR HIOR T,
(b) I HENfIIe ST helel IR TTedet SGIe.
(c) ST FHAAE! WA et Fel e
(d) I A=A I A= e St
1 @ Wﬁ" (©) @ () i (d) @) Mmy=rE) @) (o))
Which of the following terms were not included in the Queen’s proclamation of
1858 ? ,
(@) The government will not interfere in the religious life of the Indians.
(b) The treaties signed between the English ahd the Indian Pnnces will be honoured.
() Only the states with anarchy will be annexed.

(d) Higher caste people will be given jobs.
Answer options :

1) @and( (@ Gjand@d) () Gand(@ @ () and (@
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27.

16 : A

aﬁwﬁrﬁmﬁaﬁwmﬁm,a&#a@m@taﬁwﬁmﬁamﬁm@aﬁwﬂ%w |
e ?

(1) = fooE Ty T5H 7.
@) @ R fie Yo weE g,
(3) it T FERITHATG W S,

(4) R T SRR e SaEl.

What is a common factor among the ladies - Leelatai Patil, Vijayatai Lad, Laxmibai
Nayakwadi and Rajutai Patil ?

(1) They were married according to Sétyashodhak rites.
(2) They were the members of Azad Hind Sena.

3) They participatéd in the Goa Liberation Movement.
(4) They participated in the Prati Sarkar of Satara.

28.

IEE HISL EATEETId RIE aF faumiET Siva faum it T ?

(a) T FIEI=A Fel A RO TR SHACHTHT T4 (Self Rule) =t AW
. .

(b) M e TTH1 YEita Fe Fi fafay s wien TafiE dmifas Ritdar e
=ML _

ﬂ'ﬂﬁﬁ'&ﬂ‘?:'
(1) %9 (a) 2) FaB (b) (3) AR (4) UHE TE

Which one of the following two statements is not correct about the Nehru Committee
Report ? ' '

(a) It demanded Self Rule of the kind as it existed in other British colonies like Canada
and Australia. ‘

(b) It also favoured reorganisation of provincial boundaries on their natural geographic
basis.

Answer options :

(1) Only () (2) Only (b) (3) . Both (4) Neither

Hoel HIHTES S0 /SPACE FOR ROUGH WORK
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Rl B fae 9 95T SEhE WH A SR

(a) Wﬁmamm@wmmﬂmﬁm%mm

() TEg 9 gEeHH =S A Y A g,

() Tigeurme fig = qEamM # 29 TS e

(d) TOEHRE AT TS SRR 9T TR,

qafdt I :

(1) (a) 3nfer (b) (2 (o) s (d)

(3) () v (4) o wd

Which of the following statements was/were made by Sir Sayyed Ahmed Khan ?

{2) Unless the modern education and English language are adopted, the progress of
Muslims is difficult.

(b) Hindus and Muslims are the two eyes of an Indian bride.

{¢) Hindu and Muslim are two separate nations in Hindustan.

{d) Muslims should stay away from Indian National Congress.

Answer options :

(1) (a)and (b) @ ©ad@

(3) (cjonly (4) Al of the above

30.

e 3 P B Y ok ?

(a) wEeTHEETR w7 HeRa wfafid RUA Jauam Y sregea ST s ARt e
A I fE T, § TR T QiaeEed el A9,

() =T St & T STER A TEAA Tfde fie.
T I
1) 93 (a) (2) *FB (b) (3) =FE 4 TS NG

* Which one of the following two statements is correct ?

(a) Inthe Constituent Assembly the J & K was represented by the Prime Minister Sheikh
Abdullah and his nominees. This was done at the behest of Jawaharlal Nehru,

(b} ~ All the members of the Constituent Assembly unanimously agreed with the above
suggestion.

Answer options :
(1) Only (a) {2) Only (b) (3) Both (4} Neither
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31.

18 ' A
%Tﬁfﬂ?ﬂwtlﬁﬂ:
(a) T ST G TaY SUArd uriser feam. .
(b) TSR 1946 HeA A Wiarsal HHIA WHW <] ARl
() = el W, 3 A it & e R,
ot I
(1) (2) *nfor (b) TR A, () TH TR
(2)  (b) T (c) T 3R, (a) TF M.

©) (), ®), () e Frum SR AL

(4) (a), (b), (c) e foum g% anga.
Krantisingh Nana Patil :
(a) Supported temple entry of untouchables.

(b) Was forbidden from making public speeches by the Central Provmces Government
in 1946.

{c) Was given the title Krantisingh (Lion of the Revolut:on) by Acharya P.K Atre

Answer options :

(1) (a) and (b) are correct, () is incorrect.
{2) (b) and (¢} are correct, (a) is incorrect. |
(3) (a), (b), (c) are all correct. N

@) (@), (b), (c) are all incorrect.

32.

Wﬁ?fﬂaﬁﬁaﬁaﬁwﬂmm?-

(a) 1962-63 S I - ﬁmmwmmmqﬁﬁ?ﬁ

(b) ﬂ@mmﬁwmmmﬂﬁawmmm
WEIFST BT,

i S

oy ¥ () () 3 ¥ (9 T

Which of the following two statements is correct 7

(a) Following the Indo-Chinese border conflict in 1962-63, India gave large-scale-military
assistance to Bhutan.

(b) Bhutan also had a very cordlal relationship with the Brmsh Govt earher ancl had all

""" the help from them.

Answer options :

(1) Only () (2) Only (b) (3 Both @ Neith_é;f
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33. 3 Forw AdE RvE T TR T TN BR. oAt oWE =S W 94 vl tee
WEAHS Foam.
= =T
(1) TS FeEERt
(2) mdq wheER
(3) dfwwas S
' (4) THFS WHEH

He was the chief priest of the Kali temple of Dakshineshwar near Calcutta. He also said
that all the religions lead to the same God.

Identify the person.

(1) Dayananda Saraswati -

{2) Bharatendu Harishchandra

(3) Bankimchandra Chattopadhyaya
{4) Ramkrishna Paramhamsa

34, YW uR faumitet SR gRE AR 7
(1) WEARR Tad TR SwA mlﬂtw) Tq.
(2) 93 T FFMA & WA Ha,
(3) YIRG Br AHIRI e qefaE! A,
4) T vRaW e 7.
Which one of the following four statements is incorrect ?
(1) Soon after independence raiders from Pakistan invaded Kashmir.
(2) The people of Jammu and Kashmir supported them.

(3) The Indian army was sent to fight against the invaders.
(4) The State got acceded to India.

35. . qETE A 7 AR 1905 I (oA TR FISm! g ¥ot. AEe € wndte
IUReE .
(1) TeETm TSR (2) T e T
() mﬁmﬂqmﬁaﬂaﬂa (4) FERM T IS

V.D. Savarkar conducted a bonfire of imported cloth in Pune on 7t October, 1905. This
freedom fighter was also present on the occasion.

(1) Shivram Paranjape (2) Raghunath Purushottam Paranjape
(3) Kashinath Krushnaji Athavale (4) Sakharam Ganesh Deuskar
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36.

20 A

Tt wifeEeg RN 9 A2 faeT=0 deai wet. @iE! S SRErERT Hiea e 9t
¥z feeft ? _
(1) foemd (2) T 3) FOE @) =

Planned Economic modernisation of India included the construction of three Steel Plants,
with the help of Germany, USSR and Great Britain. Which of them was visited by Nikita
Khrushchev ? _ _

(1) Bhilai (2) Rourkela (3) Durgapur (4) Bokaro

37.

TG el F R el FA, Adi T T WO STURTERT ST, GE Wee $0r) 2

(1) S aen Fefe sy fieg (CSTR)

(2) T HEYE ATEYA TH (TIFR)

(3) R fage HEAH (1ISc)

(4) YT Wit F=I (11 T)

Renowned Scientist Homi Bhabha founded and directed two major Scientific Institutions
that symbolise Nehruvian Vision. One of them was Atomic Energy Commission. The
other was :

(1) Council for Sc1ent1f1c and Industrial Research

(2) Tata Institute of Fundamental Research

(3) Indian Institute of Science
(4) Indian Institute of Technology

38.

fafay fawary oy = = m@amwmmqum
(a) FEEA FHIA
(b) reefdd fowidw st

(¢) Ve Huw i IfeeT T I TATH

@) s R whaf

Wﬁtﬁ:

(1) %@ (b), () 3 (d) (2) ¥ (a), (b) M (c)
(3) B (a) AU (d) @ (), b)) ()

As an expert on various subjects, Dr Babasaheb Ambedkar testified before :
(a)° Simon Commission

{(b) University Reforms Committee

() Royal Commission on Indian Currency and Finance

(d) South bourough Committee

Answer options : '

(1) (b), () and (d) only (2)  (a), (b) and {c) only

(3} (a) and (d) only (4) Al {a), (b), (c) and (d)
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39. AN HOY & oA ?

(1) AUPT T FEUTSN AT S

2) €eR YA FRA Tl F-garara S fawen ' A wud

3) wra W g niwemmdia @‘ian YRS Setel TE

(4) frren i w9 st e et v oo Sy

What was the Tebhaga Struggle ?

(1) Struggle for independence of Tebhaga region.

(2) Struggle for keeping two-thirds of the harvest for the share-cropper.

(3) Struggle for a small piece of land between India and East Pakistan.

(4) Struggle for keeping at least one-half of the harvest for the share-cropper.

40. TS 9 fquritst Fow g IR ?

(a) TR MY T AT @ S G R S 0 e Sl
H1Y Trafaune 13 & wiswrm 712,

(b) FTUTATEIE SO G ST, AT, T F A ke Gl & Wi .
Wi'éﬂ‘i?ﬂ':
1) ¥B@ () ¥ @ @ @

Which one of the following two is incorrect ?

(a) After partition many jute and cotton textile factories had to be closed down for
shortage of raw material as major jute and cotton growing areas went to Pakistan.

(b) There was also a shortage of food-grains in India as large parts of wheat and rice
growing areas were now parts of Pakistan.

Amw& options :
(1) Only (a) (2} Only (b) - (3) Both " (4) Neither
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41.

22 A

wreitel Jaehare] qeni=T Heor 9 ) o A e e ;

(a) = IUEE T

(b) tTRRTe fay
{c) it e fody
() uEEE Ry
it IW

(a)
1 (@)

(b)
@

(<)

(i)

(2

&)

™) @ @
@) @ O

(i)

C
(iv)
®
(i)
(iv)

=

(i) EEH, ST

(i) AT Y TEW

(i) HHY, Ty

(iv) SYER, I

(dy Anti revenue enhancement

@ ® G |
Match the causes of Peasant Struggles with their places.

(a) Canal water rates (i) Burdwan, Bengal
(b) Anti Zamindari (i) Kalipatnam, Andhra Pradesh
{c) Anti water tax (i) Sukur, Sindh

(iv) Amritsar, Punjab
Answer options :
@ ) @ @@
(1) (@) @ @ ()
2) (v) (@) @ )
@) @) vy @ @@
(4 @& G @) W)

42.

n.mwmmmmmm.mwmmﬁ?
(1) IEEF SEm (2) ®X WM C :
(3) TTE AW (@) Ard-{HE s

Before which Commission did Mahatma Jyotiba Phule emphasxse the need for the prowsmn
of Compulsory Primary Education ?

L Simon Commission (2) Hunter Commission

(3) Nehru Commission (4) Morle - Minto Commission
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43. @ <A fouriie SR A o ?
() T TR VA g ' el P / et frare” Ae s, ?fanrruutﬂam
49 e,
(b) T e, afdi, fE, sﬁawauqﬁqtﬂﬁmm%mﬁ
et I
(1) 9= (a) 2) F9 (b) (3) 4) T T
Which one of the following two statements is correct ?
(a) Raja Rammohan Roy regarded as ‘the father of the Indian Renaissance” studied in
Varanasi and Patna. '
(b) He published journals in Bengali, Persian, Hindi, English and Sanskrit.
Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
44, SR Frfer BITR T TR WA e FR. HICEla T TR A U’
e g e Joon foelt (9§ W Te [ o, A S e w2
1) Fom wiwS @) TS
(3) THER Fies | (4) IS hiseS
Chhatrapati Shahu Maharaj actively discouraged untouchability. He motivated a person
to start ‘Satya Sudharak’ Hotel in Kolhapur which he would regularly visit. Name the
person. -
(1) Krishna Kamble (2) Gangaram Kamble
(3) Ramchandra Kamble (4) Ganpat Kamble
45, viear v v gy fawaie, wwﬁrgﬁm@m wmwmgaﬁaﬁmﬁﬁaﬁmam

T ?

(1) R el @ G o WiE g

T
beautiful and intelligent is not correct ?

@) W . s i a S TR 6,

(3) oA fafua foer et & 4.

(4) =0T THE TR,

Which one of the followmg statements about Pandita Ramabai who was very learned,

(1) Shrinivas Shastri was her only brother
(2) Many ICS officers wanted to marry her
(3) She married Bipin Bihari Das’

. {4} None of the above.
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46. 15 TR, 1955 Uit T T AR FAEREAR. §a<a =41 Fehl. T T 998 9@
W feen gar HY, g A1 TRyrHiTe WY Tey A FEE A O e € 9e

0 ?
1) €F 9= ' @ w3 T
) Afa weies (4) TIEE W

On 15t November 1955, when the States ‘Reorganization Commission’s recommendations
were discussed in the Parliament, a member warned, “Anything short of Samyukta
Maharashtra with Bombay as a capital, will not be acceptable”. Who was the MFP ?

(1) SXK Patil (2) C.D. Deshmukh
(3) N.V. Gadgil () Shankarrao Deo

47. W A faumitsl FR dra SR ?
(@) qqm?ma%ztmmwmmmmﬁﬁhw&mwwﬁ
(b) U9 TR AT & 1947 983 uRe fSan nRmrare e g wwdt e,

{
i
|
- !_
(1) ¥ (a) 2) %A (b) (3 <= (4) TR TR g
Which one of the following two statements is correct ? !
(@) InJune 1947 the states of Hyderabad and Junagarh expressed their desire to become |
independent sovereign states. 7 |
(b) The British Govt. prevailed upon them in July 1947 either to join Indla or Pakistan. !
Answer options : f
(1) Only (a) (2) Only (b) (3) Both (4) Neither ﬁ
48. o I fauriita) SR G o ? '
(a) TFEET I WA 24 T T TEA T WA B A=t GO e _
(b) ﬂmwﬁwmmmamﬂw B, {
Tl | f
(1) ¥F=B (a) 2) %A@ (b) @) T4 (4) T T E
Which one of the following two statements is correct ? i
_ (a) The 24t Amendment Bill which was passed in the Lok Sabha was defeated in Rajya E
N Sabha by two votes. E
| (b) It was to terminate the privy purses and privileges of the rulers of the former Indian ¢
States.
Answer options :
(1) Only () (2) Only (b) (3) Both (4) Neither
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g9, o e SR Fau s I

(a) e SgEan faeT= ¥ m@mﬁﬂﬁmﬂ%ﬂaaﬂwmm@{wm
TETR A Few - @ Sa 240 . g9,

(b) rﬁeﬂaﬁwa@mﬁ%muﬁaﬁmwﬁ.
gt 39 ]
(1) Fa (a) (2) 9= (b) @) " (4)  TEE!

Which one of the following two statements is incorrect ?

(a) Gandhiji undertook his Saltmarch from his Ashram in Sabarmati to the Gujarat
coastal town of Dandi - a distance of 240 kms.

(b) The volunteers covered the distance in 24 days.
Answer options : o
(1) Only (a) (2) Only (b) (3) Both (4) Neither.

50. Yo 9F faurits! Sive T sy ?
(a) Wﬁﬂt\ﬂmﬁqﬁmﬁtﬁ%m?ﬁ ‘Thmﬁg‘!m%maﬂ% muﬂwﬁ@aﬁtgﬂu

fee & Hedren A § A Wef.
(b) I 1961 A6} TiieaTe AT e 9 TR SRR S . S
R frafa. ST
Tt 3 ;
(1) F9= (a) @) Faw o o o o ot

Which one of the following two statements is correct ?

(a) Political unification was a great problem after independence. France supported the
claim of Portugal that Goa was one of its provmces and came to Portugals help with
men and machines.

(b) Portuguese surrendered Goa in 1961 and soon after colonies of Africa also got free
of Portuguese.

Answer options :

(1) Only (3) (2) Only(b)  (3) Both (4) Neither
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51. YIS AEEMHEE HI0R T 3N SAadieT Seord el g ?
AT & TN AR a ATRETEE ueA = St helt. wieme dewt q A S
FHTRE W FHAT M. SR FAFF T AR AN A AvTew orm Hufed SE9n o
(1) ST T SR, T
() YRdE A wE, A fees
(3) W ErEE O, 1AL 3
(4) wATTERT S M. F. T
- Which .organjzaﬁon_and a person are referred to in the statements given below ?

He made it a democratic and mass organization. Due to him the peasants and later on
even the industrial workers joined this organization. The workers joined it as individuals.
and not in separate organized capacity.

(1} Indian National Congress, Gandhiji

(2) Indian National Congress, Lokmanya Tilak
(3) The Comumunist Pai‘ty of India, M.N. Roy
(4)  The Socialists, G.K. Gokhale

52. Wﬁeﬁmi&mﬁwﬁmmﬁmmﬁéwwm@wmﬁw
st ¥ wEE O
(1) ¥feem e foraet s
2) wifs JafeE srafTTEm
(3) gt faged
(4) Towe seHt

Name the Cultural Front of the Communist Party of India whose members mcluded Balraj
Sahni and Kaifi Azmi.

(1} Indian People’s Theatre Association
(2} Progressive Dramatic Association
(3) Prithvi Theatres

(4) Theatre Academy
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53. gt A furitEt wivE g e ?
(a) T UHHEIET A9 A AT TR TE el 99 Fae TRd e fad .
(b) T T G A S e e SR SR U e e
gt I
) ) @ =) ¢ I 4 @
Which one of the following two statements is correct ?
{a} Raja Rammohan Roy established Vedanta College where Indian learning alone was
offered.
(b) Raja Rammohan Roy celebrated the success of the revolution in Spain by hosting a
public dinner.
Answer options :
(1} Only (a) (2) Only (b) (3) Both (4) Neither
54. Yete dFUS BUM faue IR g ?

(a) TRI T SfaFEm 1859 A STETTISE WE HeARE SIFTRAT 8 T o
T ST T TR 2 a7 ST gafadd e _

(b) TSN TEFR ABHD A I FHR PR, 7 Wee a famamam =it fEe=a.

=it 36

(1) %= (a) (2) s (b) @ @) THE TR
Which one of the following two statements is not correct ?

(a) Under the Inland Emigration Act of 1859, plantation workers (Assam) were not
permitted to leave the tea gardens without permission which was rarely granted.

(b) Under the influence of Gandhiji’s non-cooperation movement they defied the
authorities, left the plantations and reached home unscathed.

Answer options:
(1) Only {a) (2) Only (b) (3) Both (4) Neither
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. R faymiEt = s ot ?

) s feg Sl ofeen gEE wNvEE .
(2) ?ﬁwwﬂwmmﬁﬁiﬁ
(3) foemuoi wieh qEet (efiie) wom.

(@) =08 TS PR vy .

Which one of the following is incorrect ?

(1) A womens regiment of Azad Hind Fauj was formed.

(2) It was under the command of Captain Lakshmi Subramaniam.
(3) It was called Rani Jhansi Regiment.

(4) None of the above three is incorrect.

56. 1921 At TETH W ool e W WM 3@ =R wied S 69 2.
(1)  WEM SR FREa C(2) dfRTER FT TR TR R
(3) TSIHEY FHII9S TR C(4) TR TR
A Highlight of the Madras City Movement in 1921 was a four month long strike at :
(1) Madras Bar Council (2) Buckingham and Carnatic Textile Mills_
“(3} Rajahmundry Cloth Market = (4) Guntur Municipality

57. T - (a) W fom Al w0 det
RO - (b) N SN Al eI Susidte R e YeH Sase 7.
it 39T

(1) (a)mw)ﬁwma@)%(a)awwwm
@) (a) T AR, T (b) TH TR

(3) (a) THR AR (b) T2 M.
L (4)  (a) TR I, (b) TUR R TG F () I TR TLIFN T
Assertion - (a) M.A. Jinnah left the Congt\ess

Reason - {b} He disliked the ﬂl-dressed Hmdustam speakmg members of the
Congress.

Answer options :

(1) Both (a) and (b) are true and (b) is the correct explanation for (a).
(2) (a) is true but (b) is not. - -

(3) (a) is false, {b) is false.

(4) () is true, (b) is true but not the correct explanation of (a).
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58. IS TS Hevid qEe SR FIH s o ?

@
2)
3)
4

FIffe feamdia Taaerst 398 sfusiass Focd Faviqa fadl gEan s
e Yawd guE T T € w9

ST 1967 WeA U et a1 Herai=t FRIE He.

Which statement about the Naxalbari movement is wrong ?

(1)
(2
)

@

It began as a land dispute in Naxalbari in Darjeeling district.
The rural poor were mobilised against the landlords by the Kisan Parishad.
Kanu Sanyal was the leader of the peasants in Naxalbari.

Radio Peking praised this struggle in June 1967,

59. 1927 Wet . MATIIA FAGITIE T AN M HES FHAFAAG <few 7
Tl TR WA B, |

)
(2)
3
(4)

Nfge AR afewpd wur 9fivg
TS HA G

AT HEH

afega fererot wn

This organisation was established in 1927 with Dr. Ambedkar as its President and its
activities included interdining between Dalits and Non Dalits.

ity
(2)
&)
(4)

Akhil Bhartiya Bahishkrut Samaj Parishad
Samaj Samata Sangh
Asprushyoddharak Mandali

Bahishkrut Hitakarini Sabha
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30 ' A

T TR HEHS T diATead (ae Ui S gehid R ?
(1) @I TSI @ AU TS F 1 GEAY 1857 S SSTEEHEl WAE T,

(2) i qfEmTE T a@iaarel 4 hal FE @i S A S .

@) i gl sl fad el 1 @i s aee FOe.
(4) aﬁ?1857wmﬁma?gmﬁ;%ﬁa%wmﬁ?mﬁwwmagﬁm
e S e ¢ feifevaraa. |

Which one of the following statements about Sir Syecl Ahmed Khan is incorrect ?

(1) He tried to convince the British that the’ Musl:ms were not respon51b1e for the 1857
upheaval.

(2) He persuaded the Muslims to avail themselves of the Enghsh educatlon E
(3) He also requested them to show their support to the British rule. -

{4) He wrote two books after 1857 one depicting causes of upheaval and the other to
show the effects thereof.

61.

mwmma@wmmﬁwmw
T a?

(1) fafes Toim | (2) 3= oA AW T

3y fardt @)y e EEE |

Which of the following position of harcl and soft rocks is necessary for the produchon of
Yardang in the desert ?

(1) Parallel to the horizon (2) One by one in vertical situation
(3) Oblique (4) Indefinite 'in the form

62.

tﬂ'ﬂﬁm%ﬁmmgﬁﬁéﬁﬁmﬁnﬁﬁmﬂﬁﬂ’

(a) ﬁmﬁﬂﬁwmﬂmmmmwﬁﬁm@mmlm
& gl 9 2for-awa weE guR 1 fedatan v, -

(b) TEA WRWIEHA <fur- Wmaﬁaﬁmmm@mm

it I

(1) %93 (a) 2 FBEH (3 W @ T

Which one of the following two statements is incorrect about the normal dates of

Monsoons ?

(@) The South West Monsoons start retreatmg from the North West Indla around
1% September and retreat from South East around 1%t December.

(b} Fromn the Central Maharashtra the South West Monsoons retreat in the last week of

September.
Answer options : o
(1) Only (a) (2) Only (b) (3) Both (4) Neither

HoAl HITUTEES FRM /SPACE FOR ROUGH WORK

L e




A | 31 | ~ KOé6
63, W TEe e wie e e HE o -

1} T9E, ?hrtrrr BRTEETE, eyt

(2) TS, e, IR, eieEETS

(3) SHTRTER, TS, RN, TREHITS

(&) v dRom, e, T

Arrange the following peaks of Maharashtra in the ascending order of their heights :

(1) Rajgarh, Torna, Harishchandragarh, Trimbakeshwar

(2) Rajgarh, Trimbakééhwar, Torna, Harishchandragarh

(3) Trimbakeshwar, Rajgarh, Torna, Harishchandragarh
{4) Trimbakeshwar, Torna, Harishchandragarh, Rajgarh

‘64. ETeAterie! A0/ Hivrel fagm, fum ateT Ta/a?
(2) 15 S 1999 It vt faceam faumm @@,
(b) it sramy A= fFTramer oud e,
(c) TEHA TG TR FTETE .

it 39T ;
(1) fEum (@) (2) faur (a) i (b)
(®) faur (a) s o) (0 P @), @) 3 ()

- Which of the following statements is/are incorrect ?
(@) Parbhani district was divided on 15% August 1999.
(b) Hingoli is located on the bank of the river Kayadhu.
(c) Vasmat tahsil is in Parbhani district.
'Answéf'options :
(1) Statement (a) (2) Statements (a) and (b}
(3). Statements (a) and () (4) Statements (a), (b) and (c)
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65. TOEG TV SR AROT STURIER SATH SARFSAT ITTHE, aﬂwmﬁa*ﬁam'r
forerfea &, d wIvm ?

1)
)
@)
4

T, W, T2
T, SR, e, fsfeta

Based on the genetic classification of Powel, Davis further classified the valley types
according to slopes. What are they ?

M
@
@
@

Young, Mature, Old

Consequent, Subsequent, Obsequent, Resequent, Insequent

| Syncline,. Anticlyne, Faultline

Antecedent, Superimposed, Drowned, Rejﬁyenated

66. YA TR ST LT 2014 T2 SATH TUHS IFAATTIR ATt HA6H FSAT ST
T SAEN HAE I0Y Y st

(1)
(2)
)
(4)

e, SAE, TeTHEY, DTS, Ve
meﬂmﬁwaﬁm@

According to the National Tiger Conservation Authority’s report on Tiger Census of 2014,
select the proper option of states with the highest number of tigers in a descending

order :
(1)
)
&)
4

Karnataka, Uttarakhand, Madhya Pradesh, Tamil Nadu, Maharashtra
Uttarakhand, Madhya Pradesh, Karnataka, Maharaéhtra, Tamil Nadu
Madhya Pradesh, Uttarakhand, Karnataka, Tamil Nadu, Maharashtra
Karnataka, Uttarakhand, Maharashtra, Tamil Nadu, Madhya Pradesh
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67. 2011 = SATOREEHTE [ 2 Rl wiv sraha o ?

(a) W%, WS UTR, IO, S0 Forcgma fATUIR SUERt 925 YaT T TR

(b) TEfeRIE a e fregam famoiR Tt 925 van wifus aR.

Tt 3y |

(1) ¥ (@) @ ¥ (@) @ T @) TR
Which one of the following two statements is incorrect in respect of 2011 census ?
(a) Mumbai, Mumbai Suburban, Pune, Thane have less sex ratio (<925)

() Gadchiroli and Gondia have higher sex ratio than the average ( > 925)

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

68. eI <M fasmiis! Hivi T e ?
(a) TR SR TS IO A 4 YEd SE @ S wgita aamEite T IR,
(b) TIFF qoE FEEHL SF I @ e e AR,
et sy
(1) ¥ () 2) ¥ () @) (4) @ TR
Which one of the following two statements is correct ?

(a) Hussain Sagar is a fresh water lake in the city of Bhopal and is one of the most
polluted.

(b) Loktak lake is situated in Ladakh beyond the Chang La Pass.
Answer options :
(1) Only (a) (2) Only (b) (3} Both (4) Neither

69. et A fauris wom 9g JR ?
(a) Wmﬁﬁatﬂamqﬂaﬁwﬁammﬁmﬂaﬁéﬁ@ﬁmm
HREA™ A7 A
(b) Tt e uHfrATE Ty I Fiedia Yok THHEt SRVATeN U qaaiTEl S A,
qgiet Y ;
(1) ¥ (a) (2) %9 (b) 3 & . @ A
Which one of the following two statements is correct ?

(a) In Maharashtra Tropical Moist Deciduous Forests and Tropical Thorn Forests are
almost equal in extent.

(b} - The above two together however are not even equal to a third of Tropical Dry
Deciduous Forests in extent.

Answer options : _
(1) Only (a) (2) Only (b) (3) Both (4) Neither

FHoAT HEIS WM /SPACE FOR ROUGH WORK
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70, Qe faue 8

(a) T TR T e A9 deat qHed,

(b)Y S T e Fraie e

(c) TS UHOT WOt ARUTHFY 60% HIet WERIg[ TR,

R—

=i I .
(1) W FINA (2) TR I, ) - ww faum (b) TR AR,

(3) faum (a) snfn (b) SR =Ma. (4) Taum™ (b) 3for (o) TR e, {
Observe the following statements : | !'

(a): Iron ore is found at Pimpalgao hill of Warora tahsil.
{b) Coal is exported from Redi fort.

(¢): Out of the total reserves of manganese found in India 60% reserves are found in
Maharashtra.

Answer options :
(1) Only statement (a) is correct (2) Only statement (b) is correct
(3) Statements (a) and (b) are correct (4) Statements (b) and (c) are correct

71. TR @A faumitst Sow dr R ?
(a) TTHW TEFU Meprer HFTE T NayAraE qe.
(b) WRAWT HEid ST Y=Y TE TEER AR,
it 3% : : ' _
(1) ¥9% (a) (2) 9 (b) @) W& @) T |
Which one of the following two statements is correct ? |
(a) Gokak waterfalls on the Ghataprabha river resemble Niagra Waterfalls.
(b} The highest waterfalls in India are located on the Sharavati R]VEI'

Answer options : , |
(1) Only (a) (2) Only (b) (3) Both (4) Neither

ool HIE WA /SPACE FOR ROUGH WORK
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72. W R
(a) Tesiiog~a=q fFTaaia AR TFEd =R
(b) foRRY, a1 € WHA-T@! AQ@E TH IR _
(c) JTET=A iifeT ferTaTeTeE i ST AR el T
vt I
(1) o fauH (@) WX e, (2) faum () i (o) TR FwRE.
@) faum @) i @ TR ARA. (4 (3R (), (b) A () S A
- Observe the following statements : |
(a) The cyclones on the coast of Philippines are known as Typhoons. o
(b) Victor, Katrina are the names of Hurricane cyclones
(c) The cyclones ongmatmg near the coast of Flonda inUS.A. are known as Tornadoes
Answer ophons

(1) Only statement (a) is correct (2) Statements (a) and (b) are correct .
(3) Statements (b) and (c) are correct (4) Statements (a), (b) and (c) are correct

0y mﬁmﬁ%ﬁmmﬂnwﬂﬁ

(2) wammﬁamwmm/ﬁwmwamwﬁm
(@) 9 o EHETAL TR (SH T forean ST Wl reweret R AR .

(4) STRETA TR, ﬁmamﬁqﬁﬁaﬁmmwmmﬁ

Wl'uch one of the following statements about the Indus Commission is not true 2
(1) The Indus Commission has been set up by the World Bank.

(2) Ttis a temporary Commission to look after the dlsagreement arising between India
and Pakistan.

(3) As a result a treaty was signed between India and Pakistan for sharing waters of
Indus and its tributaries.

(4) India gets waters of Ravi, Beas and Satluj and Pakistan gets waters of Chenab,
. Jhelum and Indus. S

HOAT THIWEIS 9T / SPACE FOR ROUGH WORK -
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74, WreltertEt Fd faum e @
(1) TREIREE IS gTEE TG TERAE .
(2) JFYERZ A TR TEH AR,
(3) SR TR Wil EEHd S e AREM.
(4) TEF TIF FOARERE TR A
Which of the following statements is incorrect ?

(1) Calcium is converted into graphite due to the heat of lava.

(2) Anthracite is a type of metamorphic rock.

I o L R T o S

(3) Mineral oil deposits are found in the carbonaceous rocks.

(4) Dyke rocks are made of lava.

75. Tdte A Raumite SR e R ?
(a) delifes qar Mad gamET=N YW :maﬁ
(b) dedfes e oe, siegfufm, dew o TTEsH ..
et e :
(1) &9 (a) 2) %S () @) A @) T
Which one of the following two statements is correct ?
(a) Lateritic soils are typical soils of Monsoon climate. \
(b) Lateritic soils are rich in iron, aluminium, potash and lime.

Answer Options :

1) Only (a) (2) Only (b) (3) Both (4) Neither

HOAT HTHHE AT /SPACE FOR ROUGH WORK




A 37
76. SISl & ;
foaem YT
(a) amm'ﬁ @) S gEye
b) ST ) wEEEe v
(c) Eﬁ?s' (iji). itﬁ *:raam
@ iv) TR
T I

@ ® ©@ @
W 6@ @ @ 6
@ & v @ @
@ @ v @
@ @ @ @ 6
Match the folliowing :

District Waterfall
(@ | Ahmadnagar (i) Sautada waterfall
(b) Amravati (i) Sahastrakund waterfail
{c) Beed (111) Randha waterfall
_.(d.) Yavatmal ' {iv) Mukfagiri waterfall

Answer options :

@ B © @
M @ @ © 6
@ 6 @ @ 6@
@ @ @ 0 o
@ @ @ @

KO6

Foe FHTHER! 9T / SPACE FOR ROUGH WORK

-P.T.O.



KO6 38 ' A

77. TEa o fagmiiet SR ava o ?
(a) mwammmmmgmm |
(b) meﬁﬁamﬁﬁwmaﬁmﬁm
ot I
(1) 9% (a) 2 FB®) @) W (@) S
Which one of the following two statements is correct ?

(a) Karewas ate the lacustrine deposits in the Valley of J and K.

(b} The Karewas of Palampur, Pulwama and Kulgaon are known for superior quality
Walnuts.

Answer options :° _
(1) Only (a) {2) Only (b) (3) Both (4) Neither

78, ‘Ui’ e yeheuiaR YUIl TEE U S Y0 HIET TR ?

(1) dIeed 7 fagvR 2 wEGITHE

(3) wGEFAHA d I (4) TERATS § IR

Which are the two dams constructed on Purna river under Project ‘Purna’ ?
(1) Yeldari and Siddheshwar . {2) - Kaveri and Ujani

(3) Khadakwasla and Ujani (4) Jaikwadi and Panshet

79. Tere 9F 3 Fud fayw 9w g ?
(a) Wﬁﬂﬁmmwﬁaﬁﬁmmm
(b) mwmaﬁmmwwmmmamw

FT4e AIFT U
(1) 9% (a) (2) 5 (b) @) B () THERTR

Which one of the following two statements is correct 2
(a) Nellori, Bellary, Gureji, Keshri are the breeds of sheep in India.

(b) Indian wool is inferior to that of Australia and South Africa in quality and is called
as coarse carpet wool. _ _

Answer options :
(1) Only (a) (2) Only (b} (3) Both (4) Neither

AT WS AR /SPACE FOR ROUGH WORK .




80. v 3 Faertt o st ST ?
() T G L FHehd, G, TR 39 T FT e ARe Wy FeaEea .
(o) e smered Wi T A o S
ket S
M) ¥eE @ e 3) ¥ @) T
Which one of the following two statements is incorrect ?

(@) Rice research institutes have been established at Karjat, Khopoli, Ratnagiri but not
at Sawant wadi. ' '

(b) In West Bengal three crops of rice are taken in a year.
Answer options :
(1) Only (a) 2 Only®)  (3) Both (4) Neither

81. ¢ femmmmier 4 fiasl T8 onda. e @ e free
(1) 9T o= feuraer ¢ wrat wed.
(2) I fEs AR T G e,
(3) ST T HRIDIH TSR SSa.
(4) fp fais STEvTE WAR N e

Consider the following four passes of Himalayas. Which one has not been stated -
correctly ?

(1) Bara Lacha connects Himachal with Leh Ladakh.
(2} Burzil pass connects Shrinagar with Ganga valley.
{3) Chang La connects Karakoram with Ladakh.

(4) Diphu pass connects Arunachal Pradesh with Mandalay.

FHoAl HMEE T /SPACE FOR ROUGH WORK
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82.

40

Tt f&am v |

() e e R g WS S

(b) TEE GSF WF TSF Al

ot I

(1) W a9 (@) /R IR 2) I faum (b) R R,

(3) faum (a) snfir (b) s 37RA. (4) faum () i (b) SR TR
Observe the following statements :

(a) Erratic rocks are found in the region of glacier work.

(v} Erratic rock is a local rock.

Answer options :

(1) Only statément (a) is correct {2) Only statement (b} is correct

3) Statements {a) and (b) are correct (4) Statements (a) and (b} are incorrect

83,

e faum wg e

(@) g TR a1 5,12 ¥W 9 W9 EAL SR

(by  gesit=AT HEETel S 2.8 U ufq o7 €., S

aaiEt I _

(1) F fau (a) TR . (2) o faum (b) TR 3R,

@) faur (o) anfer (b) SR IRa. (4 faum (a) snfor (b) TR .
Observe the following statements : | |
(@) The average density of the earth is 5.12 gram/cubic centimeter.

(b) The density of the earth’s crust is 2.8 gram/cubic centimeter.
Answer options : |

(1) Only statement (a) is correct (2) Only statement (b) is correct

(3) Statements (a) and (b) are correct (4) Statements (a) and (b) are incorrect

Fo2ll KIUERS FRM / SPACE FOR ROUGH WORK
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84, feufi|l =@ ame?

1)
2)
3)
@

AEE TS AFATAT T R TR AR YHTFER
AT T SIS TR AT YITHR

At WAV ATATAT X0 FAHS TR AN YIHER
femTdem WRo A TR FT YHHR

What is inselberg ?

(1)
2)
(3)
@

Land form produced by erosional work of wind in desert area.
Land form produced by erosional work of river.
Land form produced by depositional work of wind in desert area.

Land form produced by depositional work of glacier.

85. WEw fay™ =

@
(b}

IR TeF ¢ W TERE E@SF ARA.

I TEFMS TIEE THI S ST

T I

M
)
@)
@

F fI9M () TU TR,
F M (b) T AR,
faur (a) sufor (b) sR s,
faem (a) anfor (b) TR KA.

Observe the following statements :

(@)
(b)

Arenaceous rocks are the types of sedimentary rocks.
The percentage of sand is high in Arenaceous rocks.

Answer options :

1)
2)
3)
(4)

Only staternent (a) is correct
Only statement (b) is correct
Statements (a) and (b} are correct -

Statements (a)} and (b) are incorrect

e GIAEE W /SPACE FOR ROUGH WORK
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86. Waﬁmmﬁmmmmmamnﬁ
mwmﬁm

(1) 25 30 TR SFTAAFS YA EE AT R,

(2) wfer SrieT SEYATereR fertat vitum 2. | | '
(3) TR vreTewTER FEATTAR e i e wee,

4 =l ud

Regular and continuous cycle of ocean currents like Atlantic and Pacific oceans, does not
run in the Indian ocean; because :

(1) Region beyond 25°N latitude is occupied by continents,
(2) Direction of the ocean current is deflected by conventional winds.
(3) The direction of Monsoon on Indian ocean changes in various seasons.

(4). All the above. | ' |

87. aﬁﬂﬁﬂﬁuﬁﬁﬂﬁmwiﬂ%j
(a) T @ s gie fagons frae @R 20 a ala anfn wdia g fagom s [T

AT HIGINTs Faia WIS Wie AR
() A 2 13 ST T R WA S AR,
M) ¥ @ wme) © @ o @ wET {

Which one of the following two statements is correct ?

(a) Copper when alloyed with zinc is called ‘brass’ and with tin as ‘bronze’. Rajasthan
has the largest deposits of copper ore.

(b) Madhya Pradesh stands first in India in the production of copper ore.

Answer options :

(1) Only (a) @) Ony(®) (3 Both (4) Neither

el wMEE AR /SPACE FOR ROUGH WORK
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(b) ITHE A FEARCAR §F AR T g e Y= TSI Aei e Tog o8 Feloamdt
T I
W FEE @ WM @) W @ wET®
Which one of the following two statements is correct ?

(a) Great Indian Bustard Sanctuary is a sancl-uary which is the largest in extent in the
State of Maharashtra.

(b} Recently its size has been increased even further not because of the rise in no. of
Maldhoks but because of ubiquitous Black bucks.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4)  Neither

89. 22@2014ﬂaﬁaﬁwgﬁﬁﬁwﬁaﬁagﬁaﬂaﬂaﬂwwmmﬁmmmm
HIET 3T ?

(1) o Foe, o T2

(2) e I, RE S S
(3) trwnﬁaﬁﬁzﬁmmﬁ‘—‘l‘matrr*
@ R e T, a?rsﬂwwaw

Which of the following were included in the World Heritage List in the meetmg of UNESCO,
held on 22" June 2014 ? |

" (1} Red Fort, Western Ghats.
(2) Elephanta Caves, Manas Wildlife Sanctuary.
(3) Rani Ki Baav, Great Himalayan National Park.

(4) Nandadevi Naticnal Park, Kaziranga National Park.

AT HIMWIE ST /SPACE FOR ROUGH WORK
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90. femramel TAEET IWEHS AUl fEEi= I wH M

(1) wreTaet, gfde, afvem, ftr-eme |

() =fTemE, fR-viene, T, St
3) Tr-viom, afrem, gfda, Frmam
@) fslw, wemmn, fr-visns, afEme
Arrange the passes in a correct sequence from south to nerth in the Himalayas :
(1) Kalapani, Burzil, Banihal, Pir-Panjal
(2) Banihal, Pir-Panjal, Burzil, Kalapani | '
(3) Pir-Panjal, Banihal, Burzil, Kalapani

'(4) Burzil, Kalapani, Pir-Panjal, Banihal

91, 2014 = valaTUawaS SEARHER Wdie Saifas 20 yefia weeidt g ARaTd
C q & wet waifus vgfm smea.
(1) - 10, TrerwwEI, I 2 11, F=H, 5%
(3) 12, W, qak (4 13, feoll, S

According to the Environmental Report of 2014, cities from India are among
the 20 most polluted cities in the world and and are the most polluted
of them.,

Choose proper options from following :
(1) 10, Kolkata, Chennai ' (2) 11, Kochi, Mumbai
(3) 12, Pune, Mumbai (4) 13, Delhi, Kolkata

92, YEEiwt Fow faum 9rg o ? |
(1) WG TR ST 1% Ve 9 & TR |t o,
@) ErE T 12 SR R TR T N SR TR S, '
@) IR wa feE TREE i dmee o, |
(¢ =tawd
Which one of the following statements is correct ?
(1) Less than 1% of the country’s land area is under mangroves.
(2) Mangroves have been reported in all the 12 coastal states/UTs. _ : |

(3) West Bengal has the maximum mangrove cover in the country.
(4) - All the above three

o HIHEE A0 /SPACE FOR ROUGH WORK
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HERTET Ufee oaeie 9. Ife o famsian fafies g% gt 3R, ™eee $F @ w2
(1) A TR 3% Furdn feem o

@ A A i FEieEE w3 =T e e M S T S e A

fel /0w B
(3) ¥ Tie I AN Fld www.elecwasnit.com I FEAEET ATTA.
(@) $-50 @ VEd IfeanEn u Fevanad efae .

Maharashtras first authorised electronic waste unit, Eco Recycling Ltd has begun its
operations. Which of the following statements is not correct about it 7

(1) It is located at Andheri, in Mumbai.

 (2) They send their pick up van to collect e-waste from your home/ offices (be it

computers, tv or cell phone).
(3) One just has to log on to www.elecwasnit.com and the company collects it.
(4) Itis finally sent to Belgium for metallic extraction.

04,

@i 3F it Fog G s ?
(a) IR 2011 YA Had YRR e syfea s YAV 0.6% SR,

(b) TERTERAT ST Wi 9 SIGraa S HE T 1029 7.8 .

it I

(1) ¥ (a) (2) ¥ (b) (@) ) T

Which one of the following two statements is correct ? |

(a) As per the census 2011, the percentage of Scheduled Tribe population in Mumbai
city district is 0.6%. '

(t) The Scheduled Caste and Scheduled Tribe population in percentages of Maharashtra
stand at 10.2 and 7.8.

Answer Options : S .

(1) Only (a) () Only () (3) Both {4) Neither

95.

T STEETE 2011 TR HERE (IR il 29k FEaiFe e WEYd v giawr syesy
a2 o .
(1) 38.2% (2) 42.4% () 53.1% 4) 30.5%
According to the Census Report 2011, how many have latrine facility available within

.their premises in Maharashtra State (household wise) ?

(1) 38.2% (2) 424% (3) 53.1% (4) 30.5%

FHoeAT MRS AT / SPACE FOR ROUGH WORK
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96.

46 A
. VSHERY FEd S0 FE Fen Cwmv-gur’ € st T6i S e ot i
Iefar 31 < wei=aT WA i Feit o
TE=1 T4 & ¢
(a) <T@l Rl
(b) T FH I AR o,
i 4 Tt FIvR A AR ? .
(1) ¥ (a) @) ¥ (b) @) (4) TR

Dr. Balasaheb Sawant Konkan Agricultural University has developed a new variety of
mango, ‘Konkan-Samrat’, which is a hybrid of Alphonso and Tommy Atkins.

In comparison with Alphonso it :

(a) fruits every year.

(b} however is less disease resistant.

Which of the above two is correct ? ‘
(1} Only (a) (2} Only (b) (3) Both (4) Neither

97.

YRE TR IR fRA e fawmen (CR.Z) IR faiidamyT Seeist od 87
T I ?

(@ ¢ 3 sRaad w2

(b) A - FFER anfr FafEda 9

() W @ R woa

() vEER fER i

vafet 3wy

(1) (a) 2N (b) (2) H (b) @) WX (9 @) (c) sfor ()

Which of the following regions have been excluded from the Regional Limits of C.R.Z. by
the Government of India ?

(a) Mumbai and surrounding Islands

() Andaman-Nicobar Lakshadweep Islands

(€} Eastern Coastal Region of India

(d) Malabar Coastal Region

Answer Options : _
(1) @and(®)  (2) Only (b) (3) Only () @) (0 and (d)

FoAT HTUEE FRT /SPACE FOR ROUGH WORK
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o8, it it B T G e SR e T

(@) o ww HEA grEpd A AR,

(b) Gt 2014 HEA GE FOIW ATEA.

(c) T v=md gan st Jft @ it S e,

“(d) TR O AW UF 7O SR SvaE, Seien gia wEs SUeied &6 Ul G
G Wt e a1 At O weien oA,

(o) e e 2 0 Ao et e
() THFT TR AR iR 9 aeifa aR.
- (p) fad amiEEt Gd e Fe M S F SR-d 8 9.

a3
(1) (e) . @ ®
@ @ (@) o0a fadital Tedt ==

Which one of the following statements about the Rajiv Gandhi Khel Abhiyan is
not correct ? '

(a) Itis a centrally sponsored scheme.
(b) It was launched in 2014.
() It took the place of Panchayat Yuva Krida and Khel Abhiyan.

(d) ‘Promotion of sports as a way of life” among the youth, increased access to sports
~ facilities conduct of sports competitions are included in the scheme.

(¢) Integrated sports complexes will be constructed.

(f) Provision for self defence training for women has been madé.

(g) Special category games are also organised like North East area games.
Answer Options : ‘
Q) © @ ®

3 (g (4) None of the above three
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et 2 FaaTE FoR T o ?

(a) mmwmmmzmuﬁmmmm
T (2050 TA) 2010 1 TEI 30% I FA HO ST . |

(b) S T FUES 3 7Y I .
(1) ¥ (@) @ ¥ b) O (4) @
Which one of the following two statements is correct ? - "

{a) To limit the increase in Global mean temperature to 2 degree C relative to
pre-industrial level the GHE at global level have to be reduced by 30% compared
with 2010 by 2050.

(b) Ozone is a triatomic molecule of oxygen.
Answer Options : _ .
(1) Only (a) (2) Only (b) (3) Both (4)  Neither

100.

ST’ 3 o e e e, e Qg faere v Fre
(@) 3 Tenidie ST R ST A AR

(b) ¥ FereresreT ai s YT Sew.

(€ ¥ TFTETOT=N QT 5K A,

(d) FET SgEES TeER T T8d TR

Tgqigt I |
1 @ ST (b) 2 () M (c)
@) (a) I (c) @ (® 3T (d)

The characteristics of the Iet stream are glven below. Choose the option showmg the
correct characteristics.

(@) They occur in both the hemispheres between the westerly heavy winds.
(b) They occur at equator and polar regions.
(¢) They occur in the lower part of the atmosphere.

'(d) ~ They do not affect the rainfail on the earth’s surface.

Answer Options :
(1) (a}and (b) | (2) (b) and ()
3) (a)and () @) (and (d)

Feeal FHHTS FRT /SPACE FOR ROUGH WORK
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101. [&d 3 faumits! FvR 9y &g ?

(a) FET NS ATGUETal a sAgatesd Afqitst s Seft,

(b)) A TR AW F A Je (IFEEn 9 wiRe uafe) @t

it wet | |

(1) ¥9@ (a). 2) 92 (b) @) = (4) TR

Which one of the following two statements is carrect ?

(a) Cartagena protocol refers to Biosafety and issue relating to genetic engineering.

(b) Nagoya protocol relates to Access and Benefit sharing.

Answer Options :

(1) Only (a) (2) Only (b) . (3) Both (4) Neither

102. ST 2011 TAR HERTERIS fhdl =9 TEaise T favarEn vvarE S S9eey ong ?

1) 50.2% ) 59.4% (3) 60.8% (4 75.0%

How many households in Maharashtra have availability of drinking water source within
their premises as per Census 2011, percentage wise ?

1) 50.2% () 59.4% 3} 608% (4 75.0%

103. Greferds! S ateons] Tuen Wat A9 1977 9 Frae Y T U= SRR
et et ? -

(1) e arg=t e (2) wﬁﬁqﬁaﬁaw
(3) ABAIH (4) e AU e faaeu Tk

Which one of the following environmental issues was discussed in the United Nations
Conference at Nairobi in 1977 ?

(1) Depletion of ozone layer (2) Heavy floods in Congo river

(3) Desertification (4) Melting of ice due to global wérming

Foel HIUHTE ST /SPACE FOR ROUGH WORK
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104,

50 A
ﬁlﬁmm@ﬁﬁaﬁﬁﬁ%aﬁmﬁmmmﬁmmwﬁﬁm |
(a) 1 FIR 1992 el T
(b) T T R T T SRS I 1995 T TS G s 7 g
(©) mwmmw 3% 1 3T FRd .
(d) awawﬁw

whﬂa?h‘ |
(1) = (a) ST () 2 B (b)
3) W (c) FfH (d) (4) @ (b) I (c)

Following are some of the statements pertaining to Kyoto protocol. After readmg them
choose the option depicting a group of correct statemnents : :

(a) Itwas s:gnedm1992 N

(b) One of its objectives was to reduce the carbon choxxde ernission below the level of
1995. :

(c) After the protocol emission continued to go up at the rate ‘of 3 percent a year.l" |

| (d) It was signed in Iapan

Answer Options : S
(1) {a) and (o) only (2) (b)only

3) () and (d) only @ () and {yenly

105. qﬁmﬁ%mﬁa&ﬁﬁ mw@mmﬁa mﬁﬁws{ﬁr?
) TEER @ w@ww o
(3) mrﬂmmia (4) EATR SR

Eco-system of which sea has been destroyed by the project undertakmg dlvemng of river
waters ?

(1) Redsea (2) Aral sea
(3) Baltik sea | (4) Mediterranean sea
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106, @t faum wer .

(a) SRR YRR AR TR Y SR,
(b) SEETE foreRy e FeaaTe S AR,
() werrgmHiE %o 6 Facgeisl Wi Sriies IR ST 373
T J6Y
(1)  Faa fae () T TR,
() R e (o) % I
(@) faurt (a), (6) %1 (c) s o
(4) Taum o) a0t () TR ada.
Observe the following statements :
(a) Aurangabad city is located to the west of Jalna city
{(b) Osmanabad district is located to the North of Jalna district
() Only six districts of Mahatashtra have a common border with Karnataka state
Answer Options :
(1) Only statement (a) is correct
(2) Only statement (c) is incorrect

 (3) Statements (a), (b) and (c) are incorrect
(4) Statements (b) and (c) are correct

107. YRGWE aia 14 werar e 10 foeeais= Serar 95% v Afaw aTe. mmﬁ@mﬁa
eid dF faumrnte ®IvE 9y T ?

(a) T 6 e e WARTE AR
(b) w3 foeR firgom wefter o
(1) ¥ (a) (2) F9@ (b) (3) TH (4)
The top ten highest literate districts of India have upwards of 95% literacy rate. What is
not correct about these ten districts ?
{a) Six of them belong to Kerala
~ {b) Three of them belong to Mizoram
Answer Options :
(1) Only {a) {2) Only (b) (3) Both (4) Neither
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108. TEAIST =T 2011 ALA RETART SMACHT SO AREEN TG TFhari=1 o, Jae
FHAT WUt H.
(1) STORY, faER, IREe, 79 7 SR
(2 foEr, oW Wy, W, 9 HI0R
(3) TEE, FEITEE %Y, FRR, S A Fifw
(@) IrevTeE W39, FaER, A, TR 9 FRER

‘Arrange the states in a descending order of their percentage decadal population growth
as noticed in 2011.

(1) UP, Bihar, Jharkhand, Jammu and Kashmir

(2) Bihar, UP, Meghalaya, Jammu and Kashmir

(3) Meghalaya, Arunachal Pradesh, Bihar, Jammu and Kashmir

(4) Arunachal Pradesh, Bihar, Meghalaya, Jammu and Kashmir

109, e snfor e frfidRery 78 fawt sda. wear g siew e ;

LLE] Ffiiet wm
(a) TS i) RHummr
(b =& (i) <FEEE
(c) TEET (i) IR TSI AL A FEANEF AR
(d) wEFEE (v) =T wg § diiEE TeErR
g e Wi e

(@ () () (@
1) @) G @Gv) @
(2 vy Gy @ ()
¢ @ @ 3 @)
@ @) vy @ G

Names of cyclones and their places of formation are given below -

Name Place of formation
(a) Tornado (i) Indian Ocean
(b) Hurricane (i) On Land
(¢) Typhoon (ii) West Indies Islands and Atlantic Ocean
(d} Cyclones {(iv) Sea of China and Pacific Ocean
Select the option for correct pairs :

@@ () (@ @
1 @ @ &) 0
2 Gv) @) @
3 O G @ )
4 @) @) @ @)
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110, e < Purite) B g s
(a) ?mwﬁmmmmmﬁwmww
(b) WO HeTvE TR T AOEREREA TR YR e Wi e e,
ot et | | |
(1) %= () () ¥ (o) @) o @ T
Which one of the following two statements is correct ?

(a) Vinayak D. Savarkar undertook a fast unto death for giving the untouchables an
access to the temple at Pandharpur.

(b) Pandurang Sadashiv Sane was connected with social movement against the evil
practice of untouchability.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
111. 2014 =0 TR 9@ FEnisTar uramm 10086 7 e 37ge 178 Jwived
T A @i e
(1) 28.03 anfor 153 =0 (2) 29.30 awﬁ:i 154 =
(3) 3338 T 156 <N (4) 3133 @i 155 A

According to the Environmental Development Index of 2014, India scored
points out of 100 and ranked in the list of 178 countries.

Choose the correct option :
(1) 28.03 and 15314 (2) 29.30 and 154th

(3) 33.38 and 156t (4) 31.33 and 155t

Tl HMTETS ST /SPACE FOR ROUGH WORK

P.T.O.




KOé6

54 A

112. &4 2011 o SVATER §FE 9 Ga IYTTHR Gaifieh e semea 3 Negmiamee sond
HT4 VA AR ?

(1)
(2)
(3)
(4)

I FFUHE MR W F fagufda

TAH! TF Frw, fagd 3 1o fesdormnym
fot fergufdia

- 2 faguidier T % FrEvmta

What have you to say about the three districts with the lughest literacy percentage after
Mumbai and Mumbai Suburban as per the 2011 Census ?

1
-
@)
4

Two belong to Konkan and one to Vidarbha
One belbngs to Konkan, one to Vidarbha and one to Pune Division
All the three belong to Vidarbha

Two belong to Vidarbha and one to Konkan

113. WEEiE! Bown e 1w WEii W et w2

oy
@
3)
(4)

<, 3, s, afded
sl W, 3, T
3, aferr, oo, 4

Which of the following districts practice shifting cultivation ?

(1)
2
(3)
(4)

Gadchiroli, Solapur, Nashik, Chandrapur
Chandrapur, Thane, Nashik, Gadchiroli
Aurangabad, Solapur, Thane, Nashik
Thane, Nashik, Parbhani, Dhule
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114. T T I 9 I IR IRA W TEGEIMA ST, Ted HE T AT ?
(a) T ST WORAIET ST A AET ga= 9 BT T a9 3.
(b) T VAT [E FleE HaifuE W,

it S : _

(1) +9 () () F=@ () @) =R @) T
The loo is a hot and dry wind that blows in the summer months. What is incorrect about
the loo ?

(@) The loo occurs due to convective air movement reéulting from the intense heating of
the earths surface.

(b) The loo is strongest in the forenoon.

Answer Options : _ o _
(1) Only (a) (2) Only (b) - (3 Both (4) Neither

115, RS AR TNIE TSN e~ ams & et e fmi 3 ?
(1) ¥ Ao Tie TEEERSS (2) ¥ R i MeerRee)
(3) VNI WEHRRIS U=y e () e TRravR= weg s
El-Nino current which affects the Indian monsoon originates at :

(1) Pacific ocean off Peruvian coast 2 " Aflantic ocean off Peruvian coast
(3) Western part of pacific ocean {4} Central part of Indian ocean

116. eI M faumie! FHoR W sy ?
(a) Torruta sufn seer fermeta Ay Q991907 FA0AEET (URVATHIET) FEHT AT,
(b) &R WM e SifeaT=t Tahart 15 33 SfE A
kit 3 ; | -
1 ¥ @) @ ¥zp) @ @
Which one of the following two statements is correct ? '
(@) For the reclamation of alkaline and saline-atkali soils Sulphur is used.
(p) Exchangeable Sodium percentage of Saline soil is more than 15.

Answer options :
{1} Only (a} (2) Only (b) (3) Both (4) Neither
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117. GREIEHT MRATT F9/ YT SISen ST RIVT THQ ARk arAHaRa Saitas arrey

3R ?
() 9 (CH) (2) TEE AFTEE (N,0)
_ () FRA THElEEET (CO,) 0 (4) WER HREEES (CO)
{ Which of the following gases from Indian Agriculture contributes maximum in global
warming ? .
{ (1) Methane (CHy) (2) Nitrous oxide (N,O)
(3) Carbon dioxide (CO,) ' (4) Carbon monoxide {CO)

118. [ 2 framitea! SR @ o ?
(a) 9 ® 4R Wi Wi R
(b) T (I ¥ 4R FILHIA fF o,
] waidt 36y
| (1) ¥ (a) (2) %= (b) 3 @ 4) vHRTE
Which one of the following two statements is correct ?
(a) Sugarcane is a salt tolerant crop.
() Gram {Chana) is a salt sensitive plant.

Answer options : _
(1) Only (a) (2) Only (b) (3) Both (4) Neither

119. et 3 faumiel SR dra I ?
(a) WiTa-FaR s Wi T @RS R .
() TR T S s ST AER,
et ot |
(1) ¥ (@) () B (b) @ W @ AT
Which one of the following two statements is correct ?
(a) The cation exchange capacity is high in Montmorillonite clay minerals.
(b) Basalin is used to control the transpiration from crop leaves.

Answer options : : ,
(1) Only (a) (2} Only (b) (3) Both {(4) Neither
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120. B <9 faamitat SivR g SR ?
(a) rsiedTs sagRUEREY fHiv g
(b) R TR AT e,
Tkt I |
(1) ¥ (a) 2) F@ () () W (@) v
Which one of the following two statements is incorrect ? B

(a) Refrigerators give rise to Hydrofluorocarbons.

(b) Fire extinguishers lead to increase in halons.

Answer options :

(1) Only(a  (2) Only() (3) Both (4) Neither

121, SI9M Ao Tetemed firmre dmren S 3iUa TR S9N AT ST S0 HEY S 8 ?
1y fmemmwsw (2) O A
(3) FStrmT F= @) TEYE TadEEH

Which pellutant was responsible for the minamata disease epidemic that caused several
deaths in Japan and Sweden due to consumption of contaminated fishes ?

&

(1) Lead wastes (2y Mercury wastes
(3) <Cadmium wastes {(4) Chlorinated hydrocarbons

122, Téw 3 fauitEt o s o2
(a) SaUEmET ttwEer AnToes S e YEyvTeEa et FewEt 39,
(b) TR o yomedt oot sfeTwiar fadm svgea TR,
Tt 3
(1) 2 () (2) = () @ T (4) @RI
Which one of the following two statements is incorrect ?
(a) BOD gives a good idea about the level of organic waste pollution.
(b)  Sprinkler irrigation system is particularly suited to the loamy soils.
~ Answer options :
(1) Only (a) 2) Only (b) (3} Both (4) Neither
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123. QEIAYHRT HVE] NGTF @i SIHAEE T8 YO STEodan ?

(1) Fewrie 9 Samee (2) EIEEY F AERER

(3) TR T heewH (4) T 9 fasude

Which of the following are the most widespread primary minerals in soils ?
(1} Calcite and Dolomite (2) Pyrites and Marcasite

{3) Quartz and Feldspars (4) Gypsum and Siderite

124, @Eiterit Hioe TeRle Td 0 @ fTaw aeey T (2 gga w1) oA ?

(a) I, WA, e (b) TR, TG, WA

(c) dTRTOW, FUEH, TE (d) 2, Sremm, wa

et 3w |

1) @3 @ ®I@E G ©9@ (4} (d) %=

| Among the following, which group has plants that are all ‘day neutral’ ?
(a) Maize, Rice, Pea (b} Wheat, Sweet-potato, Rice
(©) Pea, Cotton, Wheat + (d) Tomato, Pea, Cotton
Answer options :

(1) (@) and (d) (2) (b) and (c) (3) () and (a) (4) (d)only

125, WWWWWWWWWWW?

(1) TR s (@) 39 o

(3) SIMER YETT /e (4) TR TR

At which stage the crop co-efficient is maximum for calculation of water requirement ?
(1} 'Reproductive stage | (2) Seedlirfg stage

(3) . Active vegetative stage 4) Mal‘urity stage
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126. YRATHEA Yo Ffagamiere S T ™ .

(1') Bl TSRS SWE - () TfeR see™ Tq

@) <t e (4) iR s

The first Agricultural University in India was established in the name of
(1) Dr. Panjabrao Deshmukh {2} Govind Ballabh Pant

(3) Choudhari Charan Singh (4) Chandrashekhar Azad

127. REE WEL T TOARIER Himkmas, are, fe, s¥a =it s arfara fasrme e snga,
o T 3T P R e a2
(@) TIRTRTSIIATE <hivTgl WeX ihTarTe i Hied .
() TR T Sy =iTe wia A

widr IR ;

(1) +a (a) () FaB (b) (3) <= (4) THE A
Indian cities are classified on the basis of air quality index among Dangerous, Bad, Poor,
Fair and Good.

Now state which one of the following two statements is correct ?
(@) There is no city from Maharashtra in the Dangerous class..
(b) Tuticorin and Coimbatore fall in good class.

Answer options’:

(1) Only (a) 2) Only (b) (3) Both (4) Neither

128, HIUET TGN TUORSANE YAl A6 IRTGl 8, O WET FuETEt S guRa a I
JioFRE TRt red ?

(1) = (2) TFR (3) v (4) HfcE™

Which plant nutrient increases root growth, improves drought tolerance and imparts
disease resistance to crops 7

(1) Nitrogen (2) Phosphorus (3) Potassium (4) Calcium -

5
L]
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129, SISO TSN STRd STE defl el <R qilAbg e fehdn Sty Wiaeyi
3| TR,
(1) 10 (2) 15 3 20 - - (4) 25
Contour trenches are not advisable, neither technically nor economically when siope is
more than percent. L L o
(1) 10 (2) 15 3) 20 (4) 25

130. STq SRS ST e ST (F=) ‘o' aumed it 39 ?
(1) W= ‘37’ e WG SFEe HAw.
(2) TR ‘X' AL gkl Afw WA,
(3) TS O TEHTE ST,
(4) TSNS aume R Wi e sTeem.
Why horizon ‘A’ of soils harbors maximum bacterial population ?
(1) Soils of ‘A" horizon contains more nutrients. - .
(2) Soils of ‘A’ horizon is more fertile.
(3) Soils of “A’ horizon is saturated with water.

(4) Soils of ‘A’ horizon is rich in organic matter.

131, e S FaeRE FoR v o ?
(@) oy ¢ fafe enfon frerpaifaarde aien GEMRE SR,
(b) THe i | A,
i I
(1) ¥ () (@) ¥ @) @ @
Which one of the following two statements is correct ?
(a) Allophanes are a combination of Silica and sesquioxides.
(b) Tourmaline contains Zinc.

Answer options :

1) Only (a) 2) Only(®) (3} Both (4) Neither

ol HIATATS T /SPACE FOR ROUGH WORK
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132. TEAFE TR TTF GE ST 1 fafay 9% arES Igd weiEd S ?

(1) WIEH, I, T, THE
(2) o, Y, Wifas @, qd
(3) e ToR, ST arowH, TSN, Hrdt

@) i T, SRS S5, 9w, e

Which climatic elements affect the crop production or various crop cultivation
practices ?

(1) Temperature, moisture, wind, light
(2) Wind, light, topography, soil
(3) Soil water, soil temperature, rain, soil

(4) Topography, altitude, wind, rain

133.

e s wa s s s S R

(1) % sk HE (2) = ufn g

(3) Wty wifn wie (4) I wz

The deficiency symptoms of are visible at the tips of shoots and roots.
(1) Nitrogen and Sulphur (2) Boron and Calcium

(3) Magnesium and Iron (4) fotassium and Phosphorus
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134, &9 < faamitst FoR TG R ?
(a) SiHAET ST B g9 ST SR SEed TR WEuTE! T 9Sed .
(b) fe=mEew g Yefits/Jfaw 5o v
i) 36v
(1) @ () @ ¥ @) @) ¥ @ T
Which one of the following two statements is correct ?

(a) Soil erosion by wind brings about serious damage to soil by changing the seil
permeability. :

(b) Histosols are known as organic soils.
Answer options :

(1)  Only (a) (2) Only (b) (3) Both (4) Neither

135._mmméwammﬁammmmm35ﬁmmﬁﬁ\qmwm
Bl TTEGmE) R ?

1y &, T - (2) i, Te

@) W T | @ =), @90

The higher rate of Photosynthesis and higher rate of Water Uée'Efficiency (WUE) at an
optimal temperature range of 35°C to 40°C is generally observed in :

(1) GC; plants | (2) G4 plants

(3) CAM plants - {4) (1), (2) and (3) above
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136, AEIAI=AT Teor=dl TR s¥9dd gfaes (fgan 1) TR 2O ¥ A1 eTgeaTsAl
FHHILTH T IR, |
(1) @ (2) i @) Wafmm @) Tew
Loss of green colour of leaves starting from the bottom leaves upwards is a deficiency
symptoms of element.
(1) Copper (2) Manganese {3) Magnesium {4} Sulphur

137, @R [ ATHT TR G S S HIVET AR AARE SR ?

(a) el wepel () fRm A
(c) dhifes THgon (d) trw. Hsvran AT
(e) TIFHER FHeA () wFTETo
it 3t
@) @) ®) @) 6 (2 () () () )
(3) (@) ®) () @) @ 4 @ ®) © @ 6
- TWI;:t?are the essential characteristics for a community to be identified as a Scheduled
(a) Distinctive culture (b) Primitive traits
() Geographical isolation (d) Shyness of contact
{¢) Declining population () Backwardness

Answer Options :

1. @, @) (6 2) (b)) (). )
3} (@ b) © (@ @ 4} @ (b)) (. (B
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138. TE FHTEANHE UWHE & G FHIYE G R AN A SR T e e

(a)

(»)
©
@

A 9T

LR

t

T T

SR TEHERT,

it I

(1)
@)
()
(#)

()
(b)
©
{d)

6
- @
3
@

(a)
(iv)

(iif)

(i)
@

Sir John Simon
Burnham
Lane Fox

Vernon Hartshorn  (iv)

(@
)
()
@)

®

(b)
(i)
(1)
6)

(i)

®)
(i)
¥
0

@)

()
()

Answer options :

{c)

(i)
()

(d)
()

(i)
(1)
(iv)

() VWA HatE J S 9 9ed g
() T AR T e A

(iii) aﬁamﬁa%ﬁ'gﬁ

(iv) VR T8 THIER

Match the following members of the Simon Commission and the reasons for their
appointment on the Commission :

Expected to be acceptable to the Moderates in India
Had travelled all parts of the British Empire
Brother-in-Law of Lord Irwin

Member of Labour Party
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139. TN 94 fRoieamiael, e Saea fem 3o ¥ '9E gl gaEmmha e &
fomrem Sern .

(1) e s (2) we (3) T FH (4) Yan srfivEm

With similar amount of solar radiation, crops that are grown with irrigation give
yield compared to those grown with equal amount of water as rainfall.

(1) more (2) equal (3) less (4) indefinite

140. &I Q4 faumid=t Fivid 3/ o ?
(a) o T Fed Juren SEaedasd ANHM HASHRTS 31° §.3. S9E .
(b) S} IAEAEH@ FFT TERF 10 - 16° E.2. 70
i I
(1) FBE) @ F@E @ @ (4) T
Which one of the following two statements is incorrect ?
(a) Optimum temperature required at tillering stage of Rice is 31°C.
(b) Optimum temperature required for egg moducﬁon is 10 - 16°C.
Answer options :

(1) Only (a) 2} Only (b) (3) Both 4) Neither
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141. [ 2 PV HIR d T ?

(a) RIS SRORERT TE B,

(b) TR HopEET IR F1d.

T I

(1) ¥ (a) @ F9% () (@) = @ T

Which one of the following two statements is correct 7

(a) Mercury causes loss of memory.

| (b) Lead affects 1ﬁngs.

Answer options :

(1) Only (a) (2) Only (b} {3} Both (4) Neither

142, & 9 faamitst v g o 2
(a) T fowRn & wEAr ety aRferden faaonat waife o,
(b) THIETS o1 TR SNishigae e a1 Y Wgvar fodm. 7 vt &feq o,
TR I
(1) ¥ (a) (2) %9 (b) () = @ T
Which one of the following two statements is correct ?
(a) Plant distribution is primarily controlled by the distribution of edaptic conditions.

(b} The word ecology comes from the word Oikos meaning dwelling. Oikos is a Latin
word.

Answer options :

(1) Only (@) () Only (b) (3) Both (4) Neither
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143. ﬁm#’a&aﬁuﬁmzﬂﬁ%mmﬁmﬁmmﬁmmﬁmﬁﬁﬁ_
@, T A FE G AR ?

(a) ﬁﬁwmawrﬁmaéﬂuuﬁwmwawm

(b) mwmﬁmmaﬁwmaﬁfﬁﬁmﬁmmﬁﬁ
feet ST .

ygidr 39 :

(1) %3 (a) 2 FSE) @) (4) TR TE
The Kisan Credit Card Scheme is in operation throughocut the country and the scheme
augments credit flow to agricultural activities. What is not true about the scheme ?

(a) The scheme is implemented only through the Cooperative Banks and Regional Riral
Banks.

(» Under the scheme credit is extended only for the consumption needs but does not
include term credit.

Answer options :
{1} Only (a} (2}  Only (b) (3} Both {4) - Neither

144. aﬁm@waﬂa ¥
(a) LT SR AP SO e T/ R
(b) e FEAEHTE Gfea TS=EEl/FRET FTEATH.
(c) WIS HH ST T,
(d) ST gaet/ e Tt
(e) WA AR 3o famrE gfesi wre Fwaw.
gt S
M (@), (<) 3 (d) TR @ O) (@), () AT (2) TR
@) @), {), ©) (@@ FTR (4 (a), (d) IO (e) T
Problems of dry land Agriculture are :
fa) Late onset and early ceasation of rain.
(b) Prolonged dry spells during crop period.
(¢} TLow moisture retention capacity of the soil.
(d) Poor soil fertility condition.
(e} Technological and' developmental constraints.
Answer options :
(1) (a), (c} and {d) correct (2) (b), (d), (¢) and (a) correct
(3) (a), (b), (c), (d) and (e) correct (4) (@), (d) and () correct
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T ARl T i e e stawasal seiieum JEads dra fey fae
(a) TERN TEHTSN FHAWTS fTH A=k Qi FI9H T 99

(b) T SIS HHATA W Are Weh YT WA e I

(c) mﬁwnamﬁmiﬁwwmﬁ

(d) WX 9F ST THONAT EYSH HE.

At 3w :
(1) (a) ® - (2) (@F (b HaEd
(3) (@, ®)3 () ®H 4 (@ (b):.(c) q(d)

Choose from among the following essential mineral nutrients of a crop :

(@) A deficiency of the element in question results in failure to complete life cycle.

(b) Deficiency of the element in question can be corrected only by supplying that
particular element.

{¢) The, element must extend its effect on growth or métabo]ism.

(d) The element is essential in small quantities only.

Answer options :
(1) (a) only () () and () only
(3) () () and (c) only @ @) ®) ©and @)
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146, SR T8, ST TSI SJferd SIS RIS HT O ?
(2) YR =Gl (by SR FY
(c} U IFW (d) TR UREH
e hive/ IO faum/ faae ST /a2
(1) (a) B - @ (b)) K
@) (o o (d) P (4) TR FoE
The means by which GPS signals are used to determine ground position is/are .called as:
(a) Satellite ranging (b) Satellite orbit
() Satellite distance (d) Satellite receiver
Which of the statements given above is/are correct ?
(1} (a) only (2) (b)only
(3) () and (d)only - (4) None of the above
147. @ 9 fagmitwt Fow 9w o ?

(a) e ofs feamard SumE wome @ Fafera goX WETAS SeTEw AR

- (b) W@ WvEd G Wagd ST e - 2 ° e T 231@3?20091%&

T THTA.. -15 91 T TATER FIEM e,
aidt 39T :
(1) 92 (a) 2 = (b) (3) o (4) TFE R
Which one of the following two statemenis is correct ?

(@) SPOT and QUICKBIRD satellite system is an example of passive Remote Sensing.

(b) Sixteenth IRS satellite OCEANSAT - 2 was launched on 23rd September 2009 by
usmg PSLV-15 launch vehicle.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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148. TEid S faumiis! Sivd Fg 3R ?

(a) qmaﬁmﬂéﬂmﬁwaﬁsmﬁmmmmﬁmmm@a@w
TR FET FAGAAT H AT JEATIHE AR K.

(b) 2013 Wil YRAT=AT o fFTRVEER qedeiedl GRfer (phailin) A1 9% TG ST o
Heulda 7@ geaiaet wEbe-1 CARTOSAT.I)mmmﬁIwamﬁm

. Ui Y

) @@ (@) @) @) (4)

Which one of the following two statements is correct ?

(a) In microwave wavelengths (or Radar) systems, wavelengths greater than 3um are
more commonly used for sensing the characteristics of cloud cover regions. '

{(b) CARTOSAT - I satellite data images were used in the prewarning of the advancement
of the cyclonic phailin that stuck the eastern coast of India in 2013.

Answer options : )
{1} Only (a) (2) Only (b) (3) Both (4) Neither

149. Eier €1 faaralst siv[ ara J) ? .
(@) YR T Jone AR{irien T Eeed SO WA B e Thia A el

T
(b) X WA WA T [EE: AceITiegd SHA 0 UEX (ASTER) Wiaw @ 7 e
HEAT JATAM.
- wgi I
(1) 9 (a) (2) %9 (b) @ I (4) e TR

Which one of the following two statements is correct ?

(a} Remote sensing systems which measure energy that is naturally available are called
as active sensors.

(b) Remote sensing images are commonly multispectral and ASTER images record seven
spectral bands.

Answer options : .
(1) Only (a) (2) Only (b) (3) Both (4) Neither
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150. YR aF faumide v 9 ang ?

(a) TYEAH e wedf=l Sl g 0.7 d 0.9 WGk HIER Hehi TEd.

(b) TH YUl ST < Tyt S fRe 24 SUUR wEEE TS S,

et 39 _
(1) &2 (a) 2) % (b) @) = W R
Which one of the following two statements is correct ?
(a) The visible wavelengths cover a range from approximately 0.7 to 0.9 wm.
(b} For a GPS Satellite, a full constellation requires 24 satellites. '

-Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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